> #P="+)" +ZbyH-E20—10—2:

> for efrom 2 to 5 do print( ) :
print(1000 2 H F TOFEED{ ey TR AE {100} MEZIZ{10} ) : print( ) : ¢ =
0:tc := 0 :for i from 1 to 1000 do P := ithprime(h) : ¢ := 0 for x from 2 to 100 do

for y from x + 1 to 100 do for z from y + 1 to 100 do if P=x°+)°+ 2° thenc :=c + 1 :

tc == tc+ 1 :if fcmod 100 < 10 then print(P[h thp1[tc] = [x1°+ [y + [2]) fifiifc
=1 then break if :od: if c = 1 then break if :od:if c = 1 then break if :0d:od:od:
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(10959 ,4,,) =37+ 167 +[87
(11339,4,),= [27 + [31° + [10]
(13934 4,) = 3T + 171 + 97
(149554,), = [21° + [8 + [97°
(15757mp),, = 21 + 37 + (127
(%%71610p) 190~ (57 + 97+ [297]
(933162010 19, — [2F + [7F + [30T
(7N igamp) = 3T + 11T + 29T
(O7T1651mp) 03~ [61 + [10]° + [29T
(997165mp) o, = [41° + [9' + [30T°
(1009,03). - B+ 1107+ [30F
(1013139 1) g = (21 [15T + [28T
(101971 1mp) 0, = B3P+ 7P+ 317
(102173,) 0 = 20+ [217° + [24T
(1033174 4,) o = 147 + (217 + [247°

(1049176thp)110: [37+ [47 +[32]




1973

1979399 1

1987300 1

( )
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(1993501 4:,)
(1997305 4,)
( )
( )

2003304 41,

2011

(201 73051p) 5o
(20273074, =
(2029305 ) .0
(205331041,) =
(297L201p)

(3001431thp)

4129

298thp) g0

—_

(W

305thp) 506

[16T + [41T

3P+ 117 +[437

+ 21 +[397

202

—[2P + 157 +[427

[127 + [43T

204

— 3P +[25P +[377

+ 21 +[397

= [12] +[28]2+[33]

2

3P+ [13] +[43T

2P +[27P +[367

[61 +[9T + [44]

3P +[19F +[517

=217+ [9T + [54]

= [5]2+ 317 + [45T

— 197 + [277 + [47T

=27 +[27F + [487

—[2P + 117 +[54T

—[4T7 + [277 + [487

— 161+ [337 + [44T

—[5P+ 21 +[517

=3P+ [T+ 55T

- [20 + [137 + [54]
=[277 +[107* + [63]
=[37+[197 + [61]
=[377 +[227 + [60]
=B+ 117+ [63]

—[4P +[127 +[63T



(4133569thp)405 +[23] —I—[60]2
(4139570thp)406_[5 2331+ 55T
(4133571mp) ,, = [217 + [30] 24571
(4157572thp)408_[2 4+ 431 + [48T
(4177 5780mp) 400 = | [187 + [627
(4201575zhp)410—[5 *+ (247 + 60T
(5261698thp)500 + (347 +[647
(52736991mp) 5, = [3] S+ [8F 4 [72T
(5281701thp)502: (477 4 [91 + [727
(529730241) 5, = [31° + [381° + [627°
(330%7041mp) 5, = 1 (117 +[727
(5323705zhp)505_ [37 + [337 + [65T
(33337061 p) 5~ [217 + [48] 2 4557
(33%7307mp) 5, = 3] S+ 377+ [63]
(5381709thp)508:[4] 2L [67 4737
(53’87710;1“@)509=[3]2+[7]2+[73]2
(3393711mp) 5,4 + 1307 + [67T
(6427836thp)600— [3°+[337 + [73T
(644983%;”0)601 [197 + [787
(645183&;”,)602—[3 P+ (417 + 697
(6469839thp)603 42] + [68]2
(6473840thp)604_ [2F +[50T" + [63
(6481841thp)605 +[46T + [667
(6491842thp)606_[5 15T+ (79T
(6521843thp)607 +[24] —I—[77]2
(6529844thp)608_[2 217 + (78T
(6547845thp)609 [157 +[797



(653384701p) 10 = [3 + 12T+ [80T
(757 o6201p) .0, = (47 + [447° + 1757
(758996411).,,, = [21 + 41 + [87T
(7603966mp)702=[3]2+ [51 + [8771
(7621965.4,) .., = [41 +[61° + [87T
(764397041) ., = 15T + 171 + 87T
(7649971 41,) = (41 + [81 + [87T
(7669972mp)706=[6]2+ [81 + [87]
(7673973t1p) 17 = [27 + 10T+ [87T
(76815741).,0 = (21 + [541° + [69T
(76919761mp) 100 = [57 + 217+ 85T
(76997741, = (37 + 111"+ [87F
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(1974545), = 12 P+I47 +[57
(251540p), = [27 + [3T + [67
(30763p), = [37 + [4° + [67
(34970 4p), = [27 + [ST + [67
(547101 01p) s = 37 + 87
(701 126,) = [47 + 57 + 8T
(85314701p) 61 +[87
(86315041p), = [21 + [71 +[87
(881 15201), = P+97
(91915741p) = (47 + 77 + 87

1000 & H & TOFEEKD {4

Y FERAE {100} E#FIZ {10} 1

(353710p), = 21+ 37+ (41"



(6833880mp), = 21"+ 41+ o7
(7793087p) 5= 61"+ 71"+ 871"
(78730041,) = [21° + [61" + [9T°
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